THE SEMIOTICS OF RIDDLES!

Riddles have been a very ancient semiotic communicative means:
the exchange of riddles was characterized as a marked semiotic
situation. For example, we can see such an exchange in the Bible
where Samson’s wedding was described. It was connected with the
exchange of gifts and with the exchange of women — that is
the kernel of semiosis.

My aim is to point out the semiotic processes inherent in Russian
riddles.

There are a lot of Russian riddles — more than 5,000 items are
collected now. I'll examine only those riddles where words are used
in the literal sense; riddles built on the basis of metaphor will be
excluded from my presentation.

kKK

A riddle as it is known has a dual structure: a puzzle and a solution.
The riddle and its answer is, so to speak, a unit of cultural memory.
These units as a whole represent a picture of the world (“Weltbild”
by Wittgenstein) reflected by this structure.

Specificity or the uniqueness of such a picture of the world is
characterized by the definite correlation of the words in a given field
and by the correlation of these fields to themselves. Jost Trier,
developing the ideas of Herder and Humboldt, wrote:

1 This article is a continuation of my previous paper published in Russian:
CeMuoTHYecKre acIeKTbl «HHAEKCAABHON> 3arapku // Aexomyesa M. H.
Ycrpoennue sisbika. CoopHuk TpyaoB. M., 2007. P. 446-457. 1 am obliged to
express my sincerest thanks to Finn Cohen for assistance and advice when1
became lost inmy English. The examples of riddles are taken from:
Murpogarosa B. B. Pycckue HapopHble 3arapku. A., 1968.
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Every language dissects the reality by its own way, creating thereby its
own specific picture of reality and establishing its own concepts’.

A collaboration between J. Trier and L. Weisgerber resulted in “the
German Picture of the World” (1950), a hypothesis of linguistic
relativity along the lines of E. Sapir and B.L. Whorf.

The fact that the meaning of a word is defined by its position in
the structure of the semantic paradigmatic field (let us call it “Trier’s
field”) is clearly seen in terms of kinship.

There are many riddles where an answer is determined by the
structure of this field, i.e.:

e JllypuHOB NAEMSHHUK
Kaxk 351710 poAHS? — CBIH.
Who is a brother-in-law’s nephew

from the point of view of a son- in-law? — A son.

e LIAyT TpH YeAOBeKa: OAHOTO OTIA —
MaTepH AeTH, MeX coboil He
Oparbsi? — CecTpBL

Three people are walking: they are
the children of the same father and
mother. But they are not brothers.
Who are they? — They are sisters.

e CbhIH MO€ro 0TI, a MHe He 6paT? — s caMm.

My father’s son, but not my brother? — Me.
But kinship terms don’t exhaust all these cases. For example:

e Hukopabab, HU AOAKQ,
Hu Becea, Hu mapyca,

2

Trier, Jost. Aufsitze und Vortrige zur Wortfeldtheorie. The Hague — Paris,
1973. S. 145-146.
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A niAbIBeT, He TOHET
(mAOT — «TAaBCpeACTBO> )

It is not a ship, not a boat,
Has no oars, no sails,
It sails, but it does not sink.

(raft).

The most numerous class of riddles takes its clue from a semantic
field. Really, every dictionary has a class of such words, in which
“meaning is defined by context exclusively: we bite — by teeth, of
course. One licks — by tongue, clearly. Who is it, who is barking?
A dog. <...> What is blonde? A human being’s hair. The fact that was
illustrated here by a few examples is so common that we are not
disposed towards noticing it and — most important — we don’t
incline to value its importance”*.

But the riddles estimate this fact and exploit it very often. The
riddle in such a case is a context for the word that has to be guessed.

The place of this word in a context — in a riddle — is specified by
several ways. It may be an interrogative pronoun or personal
pronoun, a numeral, or a construction with ellipses.

1. Interrogative pronoun.

e YTO BHAHO TOABKO HOUBIO?
(3Beapn1)

What can be seen only at night?
(stars)

e Kro TKeT 6e3 pyK,
Bes cToaa,
Bes ueanoxka

(mayx)

Porzig, Walter. Das Wunder der Sprache. Probleme, Methoden und
Ergebnisse der Sprachwissenschaft. Miinchen, 1971. S. 123.
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Who spins without hands
Without loom,

Without shuttle?

(A spider)

The word that has to be guessed can also be a verb:

Ha neun ropstao

Ha noaarsax cxkpumyde,
Ha aaBke Tecno,

A TIOA AQBKO AYTIIHO,
A Ha cToAe TpelHo,

A 110A CTOAOM CMEIITHO,
A Ha XpPOBaTH XOPOIIO
(cmarp)

Itis hot on a stove,

It is squeaky on a plank bed,
It is cramped on a bench,

It is stuffy under a bench,
Itis a sin on a table,

It is funny under a table,
And itis good in a bed.
(tosleep)

When we see a riddle where the pronoun “it” is implied through
repetition, we can suppose that “it” refers to the same word.

Yro pacrer B Aecy,

Y xoHs Bucwur,

A'y peBku KOABIOaeTCS?
(aepeBo, xBocT, KOca)

What is it: it grows in a forest,
(It) hangs from a horse,

And waves to and fro on a girl?
(atree, a tail, a braid)
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But here such assumption can be broken: the answer is a tree for the
first sentence, a tail for the second part and a braid for the last one.

When we have numerals instead of a word that can be guessed, we
are inclined to consider this “counting” as referring to one group
of objects. But the next example shows that riddles undermine such
supposition.

° OAHMH AbeT,
Apyroi#i mpet,
Tperuit pacter
(AOXKAD AbeT, 3eMAS ITbeT,
TpaBa pacTer)

The first pours,
The second drinks,
The third grows.
(rain, earth, grass)

But there can be reference to words connected by some common
features:

° OauH rosopur,
ABoOe TASIAAT, A
ABoe caymaror
(SI3bIK, rAa3a, ymm)

One speaks,

Two look, and

Two hear.

(tongue, eyes, ears — those
are organs of sense)

The constructions with ellipses can’t be shown in translation into
English, but I will try to hint at such possibilities in Russian:

U AHeM MOAYUT,
Howuslo xpraut

(pranm)
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... is silent by day,
... screams at night.
(eagle-owl)

° Cuaur — 3eAeHeer,
Aetut — moxxeAreer,
ITaper — mouepneer
(amcr pepesa)

... is green when it sits,
... is yellow when it flies,
... is black when it falls.
(leaf of a tree)

But the semantic structure of the word in a context can be more
complicated: it is evident that it is possible for more than one word
to fit the given context. Here the specificity of language interferes
dramatically — it is very difficult to demonstrate in English the
corresponding Russian riddles.

In Russian, “a sea” and “a cornfield” can be used in the same
context — they are both “ruffled” by the wind.

e HewMmope, a BoaHyeTCS
(nuBa)

It is not a sea, but it has
waves.

(a cornfield).

e  He oronp, axoxercs
(xpanusa)

It is not a fire, but it burns.
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<that is, stings>
(nettle).

“A saw” has prongs — in Russian it is the same word for “teeth”, so:

e 3y0blecTp, a pTa HET
(mmmaa)

There are teeth, but there is no mouth —
(a saw)

So, this kind of riddle shows the typical context for two words and
the exclusion of one word from this context by the operation
of negation.

2. Now we pass over to the new type of riddles. In these riddles,
the context is rather broad, so many words could fit it, but the most
interesting feature of this type is how the guessed word is represented
here. Let us take some examples of such riddles.

° Yro B u3be 3a Puaater?
(moaaTn)

What are Philates in a hut?
(plank bed)

e  Yro Busbe 6oppo?
(Beapa) |[v'Odra|

What is [bOdro| (bracing) in a hut?
(buckets)

° Camconua B uzbe
(cononurra)

The context “what is ... in a hut?” can be fitted by many words. But
the key to the guessed word is here the phonological structure of this
word.
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|filAti| — |palAti, [bOdra| — |[v’Odra|, |samsanItsa| — |salanltsal
— we see the phonologically similar representation of the word to be
guessed. “Samsonitsa” — nomen proprium (Samson — fem.) —
is a phonological “portrait” of “salanitsa” (salt cellar).

Here the representatives of the words that have to be guessed are
connected with the answers of riddles as indicators of phonological
structures of words. This representative of an answer and the answer
itself have no semantic connection to each other. Of course, a context
implication is valid here too, but a context alone is not enough.
The right guess is determined in such a case by phonological
similarity between a word that has to be guessed and its
representative in a given context.

But it is not the most complicated connection between them.

3. There is a special class of riddles that plays with the internal
structure of words to create a larger context.

bprinpa! He Aasu B ieHay,
B nenae xanaa mpo XoHAY

The answer is:

Kot! He Ae3b B meuxy,
B meuxe karma pag rocTs.

Unlike the previous riddles, which create a puzzle out of the meaning
of words, these riddles presuppose a syllable structure of words. Not
only is there a distinction between phonological and semantic
representations of words, but here there are complex syntactical
games being played. The puzzles are created by combining the first
syllable of a common word with a syllable that has no meaning in
Russian, and the vowels at the end of each word indicate its particular
purpose in the sentence. For example, in the above riddle, “nd 7,
with the “Vowel” being filled by the appropriate vowel for the
corresponding case, creates an element of repetition but has no
inherent meaning in Russian. So, kA-mra > KA — Haa, nE-uyka > nE-
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HAQ, NE-uxy > nE-HAy. And “past rocrs” — the dialect form of “npo
xOctio0”, which itself is not standard Russian, becomes “mpo xO-npy”.
“Kor” (cat) becomes “Brynda” by combining “bry” — from
“Bpsics!”, or “shoo!” — with an additive “nda”.

In English it would be as follows:

Shoo-nda! Don’t get into a sto-nda (stove),
There is a gru-nda (gruel) for gue-nda (guest).

We have another way to code the guessed words:

Poiapa poer,
CKHHAQ CKaveT

The context of “poer” — “nuzzles” — implies “a pig” (cBumps), and
itis an answer to this part of the riddle. But it is interesting how this
pig is represented, because context plays a much larger role in the
wordplay. “Rynda” can be dissected by taking the “p” from “poer”
and combining it with the “nda”— another nonsensical syllabic
construction — to indicate the pig. Here we find a marriage of
phonological and semantic representations that are completely
reliant upon context.

The context “ckager” — “lopes” — implies “a hare”, and it is an
answer to this part of the riddle too. The “hare” is coded in the same
way: the first consonant “c” is an echo of the verb “cxaser” and is
combined again with the consonant cluster “nda” to create a word
that exists only in this context. In English, it can be hinted as

N-inda nuzzles,
l- inda lopes
(pig, hare)

This repetition of the initial consonant can be seen as the sign of
a contextual agreement and the repetition of any abstract syllable —
here the “nda” — can be seen as the preliminary form of a quantifier.
In the last group of riddles, there is no single answer, but several
answers — and all of them fit the given context. This is a special
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pragmatic category of riddles — there are several groups of people
who can answer these riddles differently. Based on their answers, we
can infer a person’s place in the social structure. Though most of
such riddles are metaphors or other ways of renaming things, there
are some examples when the riddle in its literal meaning has several
answers.

. B Boae He TOHET
(Tenb; oTpakeHue B Boae)

It doesn’t sink in water
(a shadow; a reflection on water)

e B creny He Bo6Gbews
(Tenn; sitro)

It can’t be hammered into a wall
(ashadow; a egg).

The most famous riddle of this group is:

e  Tlepep HaMu — BBEPX HOTaMH,
Iepea T060i1 — BBepX FOAOBOIL
(oTpaskenue B Bope)

Before us it is head over heels,
Before you it is head first.
(areflection on water).

But the answers to this riddle can be: a fly (on a ceiling); a shadow;
an embryo. “A fly” is a mocking answer, a kind of childish parody, but
the other answers are not equivalent to each other. A shadow or
areflection on water are more cultured answers while an embryo is
ahighly sacred thing that normally is a taboo for certain
communities.
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What can we infer from these observations in regards to
semiotics?

We see that in that prehistoric culture, a hierarchy of words was
established based on their respective importance to society. These
words can be analyzed from a paradigmatic point of view — as
a semantic field structure — and from a contextual point of view as
elements of Porzig’s and Trier’s field structures.

Such words that can be defined exclusively by their context have
been chosen as a special group. Such pairs of words that can be fitted
to the same context have been picked out, and a procedure has been
developed that eliminates the second word through negation (“It
burns, but it is not a fire.” “A nettle”).

Riddles exploit the idea of syllables and phonemes. They make a
distinction between the semantic structure and the phonological
structure of a word (a plane of content and a plane of expression).

Riddles also introduce a new type of symbols: those that
represent “any syllable” (for example, “nda”) as an example of “any
item”. This is the basis for the development of quantification.

We can also see refined semiotic transformations such as the use
of proper names to indicate a word’s phonological “portrait”
(“Samsonitsa/ solonitsa). This transformation implies the arbitrary
change of a word’s meaning, in particular stripping words of sense —
a powerful semiotic device in pragmatic aspects.

It is no surprise that communities of oral tradition have used
taboo as a special activity. And riddles display a societal hierarchy
based on a person’s ability — or lack thereof — to understand and
create them. This type of intellectual hierarchy is the dawn of history.

My concern here was a semantic aspect of the semiotic system of
Russian riddles. Pragmatic aspect has remained beyond the scope of
my paper. Nevertheless, it can be recollected that we see here a
formation of a special referential space: the situation of guessing
riddles has been marked semiotically, it has been different from the
asking (maybe the same question) in common communication.
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We know from other sources that riddle guessing was characterized
as a semiotically charged situation. Answering or not answering a
riddle could change the status of a communicant, as the example of
Oedipus has proved, when failure to solve a riddle meant death and
solving a riddle meant becoming a king.



